TOW BAR

e
// .
g -
0 Permanent Front Tow Bar includes items 2 - 12 //// ///
- e
eTow Bar Steering Link includes items - 12 e //
e e . —
e - /// ’\\\\\ - - -
P i/ R
X .
“/ﬁ N // - e -
“ ﬂ 5 i//// -
L‘\/\ I o \Jf\\ — T
o Lo : ) 7
‘ % u /D L //,
|19
\\N\H///
L |
—\
‘
& @
|

Page M-3 Service Parts Manual



TOW BAR

When ordering parts, please specify the model and serial number of the product.
* Indicates a component that is not available as an individual part.
*** Indicates consult Customer Service Department for additional information.

ITEM PART NO. 1 2 3 4 5 DESCRIPTION QTY.
1 603475 PERMANENT TOW BAR (towed vehicle) (includes items 2 - 12) .................. 1
2 601624 TOW BAR STEERING LINK (includes items 3 - 8) .....cuvvvevvviierieniiiienenn, 1
3 603297 TOW BAR TIE ROD .....cciiiiiiiiiiiiiite e 1
4 603322 LEFT HAND TIE ROD END .....uuuiiiiiiiiieieeeeeee e 1
5 601266 RIGHT HAND TIE ROD END.....coiiiiiee e 1
6 603487 JAM NUT, M12 - 125 LH oo 1
7 603488 JAM NUT, M12 - 1.25 RH..coiiiiiiiiiii e 1
8 608739 SPACER ... 1
9
10 601389 FRONT TOW BAR CASTING. ...t 1
11 606073 BEARING ..ot e e e e e e e e e e eaeaee 1
12 607322 INTERNAL SNAP RING ... .o 1
13
14 600549 FLANGED HEX NUT, M12 - 1.25. .. i 2
15
16
17 607365 HEX HEAD FLANGED BOLT, M16 -2 X 70 ...ceeeiieiiiieieeeeeeeeee e 1
18 606293 FRONT TOW BAR SPACER ..ottt 1
19 601709 LOCKING HEX NUT, MLB - 2 ..o 1

Service Parts Manual Page M-4



